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1. Introduction 

RAN4 has sent an LS to RAN1 & RAN2 asking clarification on timing of neighbor cell RSS [1] and there is one contribution in proposing a RAN2 response to this LS [2]. Following offline is initiated to decide whether and what reply to send:
· [AT113bis-e][402][eMTC R16] Timing of neighbor cell RSS-based measurements (Qualcomm)

Status: Started
      Scope: Check whether there is a need to reply the LS in RAN2 and draft a
potential LS reply assuming that there is sufficient support in principle, i.e.,
so that a draft reply LS would be available if RAN2 agrees to send a reply LS.

      Intended outcome: Report in R2-2104386

      Deadline: Thursday 2021-04-15 10:00 UTC
This document is to capture the company views and provide summary on this email discussion.

2. Discussion 

Question 1: Should RAN2 respond to this LS?
	Company
	Yes/No
	Comments

	Sequans
	Yes
	

	Ericsson
	No
	RAN1 is the primary group here. They should reply. RAN2 only has done signalling work based upon RAN1 parameter. The actual usage of those parameters would be in RAN1 spec. So, RAN2 answers may not be correct. Lets RAN1 reply to this.

	Qualcomm
	Yes
	RAN4 asked all the questions to both RAN1 and RAN1 hence RAN2 should provide it’s view on the questions. It is up to RAN4 to decide how to handle any conflicting views from RAN1 & RAN2.

	Huawei, HiSilicon
	Yes
	It is polite to respond to a direct action, even if the answer is that we don’t know. It may be beneficial to wait for RAN1 response before replying – based on RAN1 reply we will know whether any CR in RAN2 is needed or not. 

	ZTE
	No
	The RSS based measurement strategy was decided by RAN1, RAN2 only specified the related parameters provided by RAN1. Since RAN1 is discussing the related issue now, RAN2 can wait for the RAN1 reply LS and follow the RAN1 agreements.


Question 2: If the answer to previous question is Yes then provide your feedback on the proposed response in [2] to each of the questions from RAN4.
	Company
	Yes/No
	Comments

	Sequans
	
	We are fine with the suggested responses

	Ericsson
	No
	RAN1 is the primary group here. They should reply.

	Qualcomm
	Yes
	We think the response represents the RAN2 view and in-line with the current specification.

	Huawei, HiSilicon
	No
	While we agree that there is no requirement to read the neighbour cell SFN the fact of the matter is that the RAN2 specification only refers to the serving cell SFN in the calculation of the frame offset, therefore it would not be appropriate to say otherwise. This also means that from RAN2 point of view there is no synchronisation requirement. As Ericsson mentioned, the calculation comes directly from RAN1 and therefore RAN1 should be the group to respond on this aspect.

	ZTE
	No
	Purely based on our RAN2 understanding/knowledge, we cannot know how to response and also cannot decide the draft answers in [2] are exactly correct. So we suggest not to send such response LS.


3. Conclusion

TBD
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